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| For cach question given below lour answers are given, Out of four only

: T }: —
one answer 1S correct. Select the correct answer. . | x4=4
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(i) The distance between two conseeutive creasls in a (ransverse wave _
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(ii) Light is passing from one medium fo another, The ray will not -

change in direction if the angle of incidence is
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(m) When blue litmus is adde
becomes
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1o dilute HCT, the colour of the

(@ colourless

.(b)' remains blue
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(¢) turns red
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| () tums green
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(i) Cracking of crude o js carried out in orde
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. () make the crude eagier o fransport
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(6) increase the calorific valye

(¢} remove impurities
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(@) increase the amount of petrol obfained
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What are the factors on which the speed of sound in a gas ..

2
medium depend ?
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The wavelength of a radio signal is 300m. Find the frequency :Jf the
signal. Given that the radio signals travel at a speed of 3x10 mfs,
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A-person hears the thunder 3 scconds after the lightning, How far

| "sound in air
 the source of thunder from the person ? The speed of sound in |
is 332mss .
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What is the least distance of distinct vision for a nomal cye
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Why is the sky blue” |
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(¢ An object is located 30cm in front of a concave mirror

length [5em, Find the position of the image and ifg magn

15@%@%%%&%%30 c&ﬁwﬁ
aﬁnmlmwmﬁwﬁﬁw
Or / el

An object is
13cm, Find

located 10cm in fron( of 2 convex lens of foc

the location and the magnif catmn of the imay
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1. What is myopia  What kind of lens can correct the myopia an(
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The critical angle for a media with respect to air is 30°, What

refractive index of the medium ?
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5, (a) Two charges g, =34ic and 92 =24 repel cach other with a fgree

of [1027}\,{ What is the distance between the two charges ?
)
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The electric field at a point is 0.LN/C. How much force a

profon will experience there? Given the charge of a

prulc;n = 1,67x10™ Coulomb )
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(b} How many electrons arc there in | Coulomb of charge ? 1
1@%%%%%5@@‘7@@?? '

(c) Two resistors of resistances m and 242 are connected in parallel
to a 3V battery as shown below in the circuit, Find
(i) the cE:luivalenl resistance of the c{}mhinatinn‘.
(i) total current in (he circunt,
(iii) currént through each resistance.

|+142=4
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How many 120 resistors in parallel are

to be connected
battery of 67 5o that  fof

al current of 14 passes from (he
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lectric motor and
an
- generator,
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What is the pringip| | |
| Pie used in the construeti
generator ? ‘ B
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(b) Write down the Faraday's Laws of clectromagnetic induction + (c) Explain with reasons (ny one)
) - :
: ! I 1 2 (R )
REAK ﬁ@ﬁﬁﬁ)ﬁi TR e 0 | (i) NaCl does not conduct electricity-in the solid state bu
Or/9%d lcclriﬂilv in the fused state or in aqueous solution.
Draw a neat and labelled diagram of an A.C. generator, 2 - E‘im TS NaCl 4 e Aoz o (7413, o Roffr
i e 3] T e ﬁ?\ e 37 A
o) e Seve < R T (TR B ¢
| (i) Naphthalene is insoluble in water, but soluble in
- tetrachlonde, |
(¢) Mention one use of the right hand thumb rule, 1 | | 'GF?C?W i TR, R W@W &)
(O 351 e e < R T 74 : 8 . _
8. (a) What are the products of the following reactions? Write |
. Or/8% equation,
What is Solenoid ! . v il Rl 2hre f o Gty ! TgE e R
TERG T 9 i) Infs}+ 1,50, (ag) — |
(i) Name a device which converts sound energy into an clectrical signal. (i) CaCO, [s)+ HCl(ag) —
1 )
) O/ 94
7 Qe AU GRS 1 AGE 96 AT . |
7 S L ) Distinguish between base and alkali. Give one example of
1. (o) I What'is the cause of incrtncss of noble gases ? |
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mcwﬁﬁﬂw G| B .

(6 Give one reason why aloohol and glucose are not acids even
both compounds contain hydrogen.

{77 1% 40 BER (TS TR o IR T8 < Al
S -Hed S Cal) B AR 9 1 T | 4B A T

lag] | ormation O.
() With the help of electron-dot-diagram explain the formation'of C 7
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What are aliphatic compounds and aromatic compounds ? Give gne
example of each with their molecular formulae. |+1=2
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What is tetracovalency of carbon ? Explain.
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Define substitution reactions. What happens when methane reacts
with chloring in diffused sunlight? |+1=2
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Name one ore of aluminium, Describe briefly the method of
concentration of the ore. |+3=4
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With suitable example differentiate between :

(i) minerals and ores

(i) gangue and flux.
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| (6) Define alloys, Write the different tyﬁes of alloys with on
-~ of each, '
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() Answer any two of (he followingE
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(i) Name the raw materials used in the manufacture of
acid,
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(i) Name fwo organic herbicides
701 TG GHRe i |

(ii) Why the glass objects are allowed to cool from high ten
very slowly ? '
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(b Write two ill-cllects of overuse of pesticides in agricﬁllur
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12, What is Bio-gas ? Write one use of bio-gas,
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- Name o renewable sources of energy and mention one advantage of

each,

14]=2
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13, For the questions given below four answers are provided of which only

one 1§ correct, Select the correct answer.

[x2=2
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(i) The gland which secrets somalotropin 15

T B e 4 A T

(a) Pituitary

fApaeit
(b)  Thyroid
YR

(c) Thymus
YR

~(d)  Adrenal
ggE
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(i) The connecting plant befiyeen Eymnosperm and angiogyy
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() Monotropa
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() Gnetum
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(d) Cuscuts
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14, Answer he followiﬁg :

() What do you understand by turgor py
e 514 o itk

%) What is known “hereditary vehile” 7
R % W

essure 7

{c) What is the PH of distilled water ?
WS A4 pH S1ap e

5. (@) Wiite the name of the valye wl

. ich is prese
ventricular aperture, PIESEnL at the lef au
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